
P.T.O.

Roll No......................       Total No. of  Units                 : 04

Total No. of Printed Pages  : 08

Code No. : 03/216

Third Semester Examination, Dec. 2018

M.Com.

Paper - II

ACCOUNTING FOR MANAGERIAL DECISION
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• izR;sd bdkbZ esa izR;sd iz'u dk Hkkx A ,oa B vfry?kwŸkjh iz'u gSa] ftuds mŸkj
,d ;k nks okD;ksa esa nsaA

•

izR;sd bdkbZ ds Hkkx C ¼y?kwŸkjh iz'u½ dk mŸkj 200&250 'kCnksa esa nsaA

•
Hkkx D ¼nh?kZ mŸkjh; iz'u½ ds mÙkj 400&450 'kCnksa esa nsaA

• Part A and B of each question in each unit consist of very short answer

type questions which are to be answered in one or two sentences.
•

Part C (Short answer type) of each question will be answered in

200-250 words.

•

Part D (Long answer type) of each question should be answered

within the word limit 400-450.

Unit - I

Q.1 A izcU/kdh; ys[kk fof/k dh ifjHkk"kk nhft,A  (2)

Define Management Accounting.

Q.1 B foŸkh; fo'ys"k.k ls D;k vk'k; gS\  (2)

What is meant by Financial Analysis?

Q.1 C izcU/kdh; ys[kkfof/k ds dksbZ ik¡p dk;Z crkb,A  (4)

Describe any five functions of Management Accounting.

(8) Code No. : 03-216

OR

fuEu lwpukvksa ls Je ykxr fopj.k] Je nj fopj.k] Je dk;Zdq'kyrk
fopj.k rFkk Je mRifŸk ek=k fopj.k dh x.kuk dhft, vkSj vius mŸkj dh
iqf"V dhft,A

     izeki ykxr      okLrfod ykxr

mRikn % 1000 bdkbZ mRikn % 1200 bdkbZ

Hkqxrku dh nj % izfr bdkbZ 6 :- Hkqxrku dh xbZ etnwjh % 8000 :-

fy;k x;k le; % 50 ?kaVs fy;k x;k le; % 40 ?kaVs

From the following information calculate Labour Cost Variance,

Labour Rate Variance, Labour Efficiency Variance and Labour

Yield Variance and verify your answer.

        Standard Cost         Actual Cost

Output : 1000 units Output : 1200 Units

Rate of payment : Rs. 6 per unit Wage paid : Rs. 8000

Time taken : 50 Hours Time taken : 40 Hours
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OR

foŸkh; fooj.kksa ds fuoZpu ls vki D;k le>rs gSa\ blds dkSu-dkSu ls
mís'; gS\

What do you mean by interpretation of financial statements?

What are its objectives?

Q.1 D izcU/kdh; ys[kkadu fdlh O;olk; dh uhfr fu/kkZj.k ,oa ;kstuk fuekZ.k esa
fdl izdkj lgk;d gksrk gS\  (12)

How and in what way Management Accouting is helpful in

formulation of policy and planning of a business organisation?

OR

foŸkh; fooj.kksa ds fo'ys"k.kksa dh fof/k;ksa dks crkb,A

Explain the methods of analysis of financial statements.

Unit - II

Q.2 A ys[kkadu vuqikr D;k gS\ (2)

What is accounting ratio?

Q.2 B ldy ykHk vuqikr D;k gS\  (2)

What is gross profit ratio?

Q.2 C vkSlr olwyh vof/k D;k gS\ bldh x.kuk dSls gksrh gS\  (4)

What is average collection period? How is it computed?

OR

vkfFkZd fp<~Bk vuqikrksa ds ik¡p mnkgj.k nhft,A

Give five examples of Balance Sheet ratios.

(2) Code No. : 03-216 (7) Code No. : 03-216
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Q.4 B lkexzh mRifŸk ek=k fopj.k D;k gS\  (2)

What is material yield variance?

Q.4 C ^^fopj.k fo'ys"k.k izeki ifjO;; dk ,d vfHkUu vax gS** O;k[;k dhft,A (4)

"Variance analysis is an integral part of standard costing"

Elucidate.

OR

Je ykxr fopj.k D;k gS\ blds fofHkUu la?kVdksa dks lw= lfgr Li"V
dhft,A

What is labour cost variance? Explain its various components

along with their formulae.

Q.4 D ekSfyd daiuh ,d mRikn dk fuekZ.k djrh gS vuqeku gS fd ,d fdxzk-
lkexzh mi;ksx ls 100 oLrqvksa dk mRiknu gksuk pkfg,A lkexzh dk izfr
fdxzk- izekfir ewY; 20 :- gSA tuojh 2013 esa mRiknu ds fy, 200 fdxzk-
lkexzh fuxZfer dh xbZ ftldk ewY; 21 :- izfr fdxzk- FkkA ekg esa dqy
20500 oLrqvksa dk mRiknu gqvkA mi;qZDr lwpukvksa ds vk/kkj ij
¼v½ lkexzh ykxr fopj.k ¼c½ lkexzh ewY; fopj.k ¼l½ lkexzh iz;ksx fpj.k
vkSj ¼n½ lkexzh mRifŸk ek=k dh fopj.k dh x.kuk dhft, vkSj vius mŸkj
dh tkap dhft,A  (12)

Moulik company manufacture a product. It is estimated that

for each kg of material consumed, 100 articles should be

produced. The standard price per kg of material is Rs. 20.

During the month of January 2013, 200 kg of material were

issued for production, the price of which was Rs. 21 per kg.

Production during the month was 20500 articles on the basis

of above information calculate (a) Material Cost Variance

(b) Material Price Variance (c) Material Usage Variance

(d) Material Yield Variance and verify your answer.
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Q.2 D fuEu lwpukvksa ls va'k/kkfj;ksa ds fofu;ksx ij izR;k; Kkr dhft, %  (12)

fuxZfer ,oa izkfFkZr iwath   :-

4000 lerk va'k izR;sd 100 :- 4]00]000

1000 10% iwokZf/kdkj va'k izR;sd 100 :- 1]00]000

5]00]000

lap; ,oa vf/kD;

vkxe lap;  40]000

iwath lap;  60]000 1]00]000

C;kt ,oa dj ls iwoZ 'kq) ykHk 2]25]000

C;kt dk Hkqxrku  45]000

dj dh nj    30%

From the following information, find return on shareholder's

investment

Issued and subscribed capital       Rs.

4000 Equity share of Rs. 100 each 4,00,000

1000 10% preference share of 100 each 1,00,000

5,00,000

Reserve & surplus :

(Revenue Reserve) 40,000

(Capital Reserve) 60,000 1,00,000

(Net profit before interest and tax) 2,25,000

Interest paid    45,000

Rate of interest        30%

OR

fuEu lwpukvksa ls nsunkj vkorZ vuqikr dh x.kuk dhft, &

           :-

v½ izkjafHkd nsunkj                           60]000

vafre nsunkj                          90]000

nsunkjksa ls izkIr jksdM                 4]20]000

foØ; okilh                          30]000

OR

fuEukafdr lwpuk ls jksdM+ izokg fooj.k i= rS;kj dhft, %
        :-

izkjafHkd jksdM+ 'ks"k     4]50]000
vafre jksdM+ 'ks"k      88]800
o"kZ dk 'kq) ykHk     1]00]000
nh?kZdkyhu _.kksa dk Hkqxrku    15]00]000
LFkk;h lEifŸk;ksa dk foØ;     9]00]000
nsunkjksa esa o`f)          40]500
ysunkjksa esa deh      28]700
Lda/k esa deh     2]40]000
xSj lapkyu O;;         1]25]000
xSj lapkyu vk;          30]000
vk;dj dk Hkqxrku                     1]27]000

Prepare cash flow statement from the following informations:

          Rs.

Opening cash balance    4,50,000

Closing cash balance       88,800

Net profit for the year    1,00,000

Repayment of long term loan  15,00,000

Sale of fixed assets    9,00,000

Increase in debtors       40,500

Decrease in creditors       28,700

Decrease in stock    2,40,000

Non-operating expenses    1,25,000

Non-operating income       30,000

Income tax paid      1,27,000

Unit - IV

Q.4 A ykxr fopj.k fo'ys"k.k D;k gS\  (2)

What is cost variance analysis?
P.T.O.
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    :-

c½ dqy fcØh                           1]50]0000

udn fcØh m/kkj fcØh dk 25%

vafre nsunkj                           40]000

izkjafHkd nsunkjksa dh rqyuk esa

vafre nsunkjksa dk vf/kD;                20]000
Calculate Debtors Turnover Ratio from the following

information-

        Rs.

(a) Opening Debtors     60,000

Closing Debtors     90,000

Cash received from Debtors  4,20,000

Sales returns     30,000

(b) Total sales  1,50,000

Cash sales being 25% of credit

sales Closing Debtors     40,000

Excess of Closing Debtors over

Opening Debtors     20,000

Unit - III

Q.3 A dks"k izokg fooj.k D;k gS\  (2)

What is fund flow statement?

Q.3 B jksdM+ izokg fooj.k D;k gS\  (2)

What is cash flow statement?

Q.3 C jksdM+ cgko fooj.k dh izLrqfr D;ksa egRoiw.kZ gS\  (4)

Why is the presentation of cash flow statement important?

OR

dks"k izokg fooj.k ds izcU/kdh; mi;ksxksa dks crkb,A
Explain the managerial uses of fund flow statement.

Q.3 D ,-ch-lh-fy- ds fuEu vkdM+ksa ls Q.M cgko fooj.k rS;kj dhft,A  (12)

                        31 ekpZ
                2015 ¼:-½   2014 ¼:-½

jksdM+      8344   4652
O;kikfjd izkI;     12650  18170
v'kks) _.k ds fy, NwV      1750   1860
O;kikfjd LVkd     23875  24640
QuhZpj ,.M fQDplZ     17500  12000
Vªd     19000  11500
Vªd ij lafpr gkzl      4500   3000
O;kikfjd ns;     22122  19280
iwath            50000  50000
izfr/kkfjr ykHk [(+) ykHk   (-) gkfu ]         +2997   -3178
2014&2015 esa 5000 :- dk ykHkka'k fn;kA QuhZpj o fQDlplZ ij gkzl
2014&15 eas 1200 :- FkkA bls lEifŸk [kkrs esa ØsfMV fd;k x;k FkkA

Prepare a fund flow statement from the following data of  ABC Ltd:

  31st March

                 2015 (Rs.)      2014(Rs.)

Cash          8344         4652

Trade receivable        12650       18170

Allowances for Bad Debts          1750               1860

Merchandise        23875       24640

Furniture & Fixtures        17500       12000

Truck        19000       11500

Accumulated Depreciation on Truck               4500         3000

Trade payable        22122       19280

Capital        50000       50000

Retained Earnings [(+) Profit (-) Loss]        +2997        -3178

A dividend of Rs. 5000 was paid in 2014-15. Depreciation on

furniture and fixtures amounted to Rs. 1200 in 2014-2015. It

was credited to assets A/C.
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